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Math 373 

Fall 2018 

Quiz 1 
September 6, 2018 

 

1. Lauren invests 100,000 in the Diego Fund.  The Diego Fund pays a nominal interest rate of 10% 

compounded quarterly.  At the end of Y  years, Lauren has 361,111.23. 

 

Alex invests 100,000 in Ethan Bank.  Ethan Bank pays simple interest at a rate of s .  At the end 

of Y years, Alex has 361,111.23. 

Determine the annual effective interest rate that Alex earns during the 10th year of his 

investment. 

Solution: 
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2. Danny agrees to pay Christine 1000 today.  In return, Christine agrees to pay Danny 500 at the 

end of one year and 700 at the end of two years. 

 

Determine Danny’s Internal Rate of Return on the arrangement. 

Solution: 

2 2

2

1000(1 ) 500(1 ) 700 10(1 ) 5(1 ) 7 0

( 5) ( 5) 4(10)( 7)
Using the quadratic ==>(1 ) 1.12321 0.12321

(2)(10)

Using the Calculator

0 1000; 01 500; 02 700; 12.321%
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3. Calculate the (4)d  that is equivalent to an interest rate of 8% compounded monthly.   

Solution: 
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